D0 MYRID'T VYR ORI nnan noon MIA AT TINHD My BT

29.3.10; 26a (7 maww) > 27a (1°n)

1,p 777202 DIPY M7 29070 YR TYIN KR NNA ‘N N2 YY DTN NR 1050 PN .

7,7 4777 DWRI) IRYND RN DYTR UIp "WRD ANR 'AN) DR2N RN NORN XY

2,07 rewa2:1YIID 0P PIRD TR NZY NINY RN 1920 PIR 119 9D YY) MDY 07D 118 %Y 9pun .

2,7 4777:92 TRIM NAMN YR IR0 TY 1290 YD narmn Y nTpin HY nodn RN nPPD NIR NRE IHRY 112 NRY IR NRIY .

2,78777:D2TAN YR DY) DD YY NPPD DR YRD JIRA TYR YT NR D10 02 YY W2 T2 00390 T2 570 1050 wI .
7,7 x77:'02 YR MIIRY DN NIPDY NIT MY NWRN YY PNy .

I 17 mwn: dispute »1/8" whether to process ymp if 0”1’ are “gone”
a  If: the 0w became &Y, lost or burned up; per ¥ ymp is brought nonetheless, per 7z ymp is not brought
b 27 'sinvalidation only applies if complete D1 became nRnY, but if part are still 191V, may be burnt
i Assumption: he only made this qualification re: nkmv, not lost or burned up
ii  Challenge: if he holds that Xn%n 811V (i.e. something remaining is meaningful), should extend to 917w Tar
1 But if he holds that Xn%n 1RY 811w — i.e. all or none — then he should not allow for ®nv either
(a) And if: Rnoais different due to the p¥’s effecting »¥», then even if all of the 0»w are DxnY
iii Answer: our assumption is wrong; he intends the rule to all 3, and picked ®nv as it was first in mwn
¢ Per: »"/x™M rerrequirement to have 25n m1 or 9wa no1 remaining (1/2 +1/2 are only 970xn for nY; existence of nman
D501 doesn’t help, even if complete)
i Source: (note — we already found source for 1wa in DN1ar; DTN WD PMNY WYY; now we are inquiring re: a5n)
1 o1:25n - only if 25N no1d is there; source for extension to other fats —
(a) infererred: from disqualification of 0201 nnan to “help” - other fats do “help”
(b) source: mnn nY (v. 1) — anything that generates mm» nn
(c) Justification: mn»1 N might extend to nMan; 25n might limit to only a%n - %"np
II 27 mwn: requirement of N *3; taking several steps to burn
a  If: he burnt it without using a n7 *93- invalid
i Dissent: v validates
1 Explanation#1 (8ax 72 871 ’7): per v. 2 — he may perform ymp n1vpn like nkon (by R hand) or nwx (L —93)
(a) Challenge: ®n»12 which allows R or L, hand or 5
(i) Defense: it is distributive — hand requires R, 93 may be with either
2 Explanation#2 (’x2 77): once he’s done n¥'np from 7w *93, may bring up with any 53 (even shard)
3 Explanation#3 (»7217): must be sanctified in n1w »53 — (may then put up by hand)
(a) Note: k1 represents w™ (with ™) as permitting 53 1nn w/o 7w *93 (Drest require)
(i) Defense: from *93 inn and on, no requirement of NV 53
(b) Challenge: ®n»1a represents W™ as once it was pnpi from nw »53, valid
(i) Defense: read “once it was ynpi info a nw *>
4 Challenge: ®n1 — w™ (and &™): if he was pn»a ymip then put into left, may return to R
(a) While: in L, any pyyn mawnn are only Y018 (not %3an); once he returns to R, can be a1
(b) Dissent: N - once he puts into L hand, it is invalid (no fix)
(c) Inference: " doesn’t require *931 1nn (else it would be invalid if it goes into L, as 07 that spills on floor)
(i) Therefore: this is a refutation of »"an
(if) However: it supports RaR 72 ®»n "3, but isn’t necessarily a refutation of 'y "
1. He could: defend it per kn»1 above, without distributive answer
b If he burned the ymp in two steps — valid
i 5%27. only two steps, no more — he holds that n'ran mna nopn PR = not Nvpn if done in smaller amounts
ii ~ »”r may be more steps — he holds that n>ron mna nvpn v
iii  Related dispute: ymp permits 01w to be eaten when enflamed (X310 "7); when a majority is ignited (janv ")
1 Source (for ja112 73): v. 3 — only makes smoke when majority of the oven is ignited (?)
2 Challenge: ruling that ymp may be put up just at sunset, even though there isn’t time for 12172 1980 1N (v. 4)
(a) Answer: that is all needed narn nv*9p5; D»PW not permitted until nxmn 1217
(b) Note: 8" understood that Xn»91 as referring to post-sunset, and re: pyma (if they fell off)
(c) Challenge: nmvp (listed in that ®n»»1) isn’t returned to fire per v. 5
(i) Answer: “nmop” should be deleted from xn»11
iv  Questions: if N1V or 1aR are under the wood — nopn T11?
v And: if D12R are placed alongside n27yn, is that "»»” (v. 6) 7p’n to all 3 questions
1  Note: only valid if we read “%»” (in re: 90 onY as “near”)
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